ooobo goooon

1. 00000000000000000000000 mO000000000000
000000000 000000000000000000000000000
00000000000000000000400000000 Fygop = —B820
000000000 ¢g0000
Da0000000000
ObOOD 000000000000000 20)=0,40)=0000000000

t0000000 2(4) 00000
0c000000000000000000000000

2.0000 kO0OO0O0OO0OOO0OOOODOOOODODODDODO mOUODQODODOO
00000 «00D00D00OD0O0ODODODOOO00 z=0000000000000
gobobbooooboood
albOOOOoooooOog
ObOOO t=00000 x=¢ 000000000 00000000000 tOO

gogobooooonoo

OcO0O0ODO0OD0 z=000000000000D0OO0OOOODODOOO

3.2.00000000000000000000000000000000000
f>000 0000000000000
Da000 t+=0000000000000 2(0)=0, #0)=0000000000
t000000 z(4)00000
Ob0xz(t) 00000e00000
DcOt=7T0000000 x000002z=¢00000000000000000

ooo0obooboobooboobogooob t>T0OO0ODO0ODOODOODOD

4. 2. 000000000000 0DOOO0ODODODOOODOOODODOOOODDOD
000000000000 000000 Fhppp =—-p2000000¢t=000
000000000 2(0)=a, $=00000000 t+000000 z(t) O
(a) B2 —4mk >00 (b) f2—4mk <00 (c) f2—4mk =0
uogoboboogoboood



